Series SR5QP/5

Set-1
il 59/5/1

e . wlegrefl TH-TF HIE P IW-GETHT h
Roll No. TE-I8 T 379y ford |
Candidates must write the Q.P. Code
EE on the title page of the answer-book.
[=];’
POLITICAL SCIENCE
frafiRa a7 : 3 g2 ST 5% : 80
Time allowed : 3 hours Maximum Marks : 80
L1 NOTE
() o1 9 B o 6 39 T-9F 4 gfgd | (I) Please check that this question
Tss 23 8 | paper contains 23 printed pages.
(II) <puan S o Toh 39 TH-93 0 30 9 | (II) Please check that this question
2 paper contains 30 questions.

(I11) I39-951 ¥ eIt 81 <hl 311 feu Tu g99-
9F hIg I gliarell IT-gfedet % q@-

(IIT) Q.P. Code given on the right hand
side of the question paper should

S be written on the title page of the
K ferd | answer-book by the candidate.
(IV) 9T Y97 T IR {oFEd1 T€ & & Ugd, | (IV) Please write down the serial

IR 7 T T shHIh e foerd |

number of the question in the
answer-book before attempting
it.

(V) 39 J3-U3 &l Ygd & T 15 fime &1
o fezmn T 7 | 9w -v T T gute
T 10.15 s fopam S@m | 10.15 S99 &
10.30 & e qdetefi haet J9-I i
T 3R 3G 3T o SH o ITR-Yfedeht
T hTE I 78! fera@ |

2259/5/1 PARAAN 1

(V) 15 minute time has been allotted
to read this question paper. The
question paper will be distributed
at 10.15 a.m. From 10.15 a.m. to
10.30 a.m., the candidates will
read the question paper only and
will not write any answer on the
answer-book during this period.

P.T.O.



= A
fFreferfea fwt =t e wfew si 37et arem Hifse -

(i) 3TFT-97 530 357 & | Gt 397 3741 & |

(ii) ¥oT-97qia @S] 4 f[A9If5ia 8 — @S &, &, T, T0a & /

(iil) @US-%F : Fo7 G&IT1 T 12 7% TgldhcH1 YhR & 597 & | Feieh Fo7 1 36 HT1 3 |

(iv) GUE-T : J97 G 13 & 18 7% o7 IT0T YR & 97 & | Yo% J97 2 371 FT & |

eI 9T HT IR 50 G 60 Fsw! 7 17kaT |

(v) GUE-T : F97 G&T 19 @ 23 & 3709 Fob/ —1 & 97 & | Ik Jo7 4 FHebl &7 & |

Jeh Y97 HT T/ 100 & 120 F5e] 5 foifgw |

(vi) GUE-Y : o7 G&IT 24 T 26 3771, HIZT T THIT ITETRT 97 & | §edF Jo7 BT I
TEIFER IeTRETE |

(vii) GUE — & : Jo7 G&IT 27 & 30 1 e I FHR~I1 & 797 & | 0% J97 6 37 7
& | J% T HTFR170 & 180 v1551 § 107197 |

(viii) ¥97 97 H HI5 GHI 19549 781 8 | TeT Fes Jo71 7 AR faeeq H1 JIae 1327 T
& | 57 591 H & 3T T &1 597 1 I [e7al 7Y |

(ix) 5% TR, &1 & 13 FrRanferT qhamfri & Io7g Biet aoi Fr1=r 31e Sremia Fo41
& T T T 37T 97 1697 7377 & | 37 59 @ IR baT gIvanfea gieref & 17 |

2259/5/1 2



GENERAL INSTRUCTIONS :

Read the following instructions carefully and follow them :

(t)

(i)

(iii)

(iv)

)

(vi)

(vii)

(viii)

(ix)
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This question paper contains 30 questions. All questions are

compulsory.

Question paper is divided into FIVE SECTIONS - Section A, B, C, D
& E.

Section A — question number 1 to 12 are multiple choice type questions.

Each question carries 1 mark.

Section B — question number 13 to 18 are Short Answer type questions.
Each question carries 2 marks. Write answer to each question in
50 to 60 words.

Section C - question number 19 to 23 are Long Answer type-1
questions. Each question carries 4 marks. Write answer to each question

in 100 to 120 words.

Section D — question number 24 to 26 are passage, cartoon and Map-

based questions. Answer each question accordingly.

Section E — question number 27 to 30 are Long Answer type-II
questions. Each question carries 6 marks. Write answer to each question

in 170 to 180 words.

There is no overall choice in the question paper. However, an internal choice
has been provided in few questions. Only one of the choices in such
questions has to be attempted.

In addition to this, NOTE that a separate question has been provided for
Visually Impaired candidates in lieu of questions having visual inputs,
Map etc. Such questions are to be attempted by Visually Impaired

candidates only.
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T 9T 1 9 12 T Sgfashedi I bR b 1 H B I ¢ | 12x1=12

1.

frefeaa ae13Ti i SHIeTshd AR SFafedd $ife 3T I H €1 § agl e gw: 1
() YRa-&G qHies giy

(1) STHIREAH 9T BT HATHAT

(i) iferra g9 o1 foees

(iv) &9 4 GHISETC! hifd

A) @), @), (), (v) (B) @), Gv), (1), @)
(©) (), (i), i), @) (D) (i), (), @), @v)

T o 3% UvETd WA o faifsra T @ fore frfetfaa o & fopment a7 feram T

T ? 1
(A) TEre s (B) ST SR
(C) =TE 3TN (D) g 3w

freferiea o & vra &t A ot v < famea 3 Swstd °§ uRdE T9 § wihe g

fortre femam o 2 1
A) wEler (B) ®ausTg

(O (D) TR

frefeiad 4 & F Tl F911 o SUIRT I TcHTied hidl & ? 1
(A) S g Ity (B) UTeROT GRETOT ATy

(C) ferga arfufrm (D) YA 3T WA Tiferslt
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SECTION - A

Question No. 1 to 12 are Multiple Choice type questions carrying
1 mark each. 12x1=12

1. Arrange the following events in chronological order and choose the correct

option as answer : 1
(1) Indo-Russian Strategic Agreement

(11) The Soviet invasion of Afghanistan

(111) Disintegration of the Soviet Union

(iv) Socialist Revolution in Russia

A) @), @), (1), Gv) (B) (1), (v), (i), @)

(C) (), (1), (1), @) (D) (i), @), (1), Gv)

2.  Which one of the following was formed for the planned development of

India, just after independence ? 1
(A) Election Commission (B) Planning Commission
(C) Shah Commission (D) NITI Aayog

3.  Which one of the following Princely States of India initially opposed

joining the Indian Union ? 1
(A) Baroda (B) Hyderabad
(C) Mysore (D) Gwalior

4.  Which one of the following encourages the use of renewable energy ? 1
(A) Energy Conservation Act (B) Environment Protection Act
(C) Electricity Act (D) National Auto Fuel Policy

2259/5/1 5 P.T.O.
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(A) MU (A) 3 HRT (R) SHT T 8 3 hwm (R) ARhe (A) 1 el = 2 |

(B) 3AfHeH (A) 3R HROT (R) GHI Hal 8, 9T HRT (R) AMHAA (A) 1 F& ST
T E

(C) 3fieheM (A) W& 8, WifehT SR (R) oA 2 |

(D) AU (A) Terd B, wAleh T (R) T & |
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5.  Match the List-I with the List-II correctly :

the pro-democracy groups, the military
had prevailed over democracy in this

country.

List-1 List-I1
(a) | The first country to liberalise 1its| (1) | Maldives
economy in the South Asian region.
(b) | Earlier this country had the Sultan as its | (i1) | India
Head of State. Now, it is a republic.
(¢) | Aland locked country. (111) | Pakistan
(d) | In the conflict between the military and | (iv) | Nepal

Choose the correct option :

(A)
(B)
(©)
D)

6. In the following question, a statement of Assertion (A) is followed by a

(@ () (¢ (d)
(i) @ () @)
i) @ @) @)
(i) @ (@Gv) i)
(iv) (i) @) @)

statement of Reason (R). Choose the correct option as answer.

Assertion (A) : People started protesting against the increase in prices of
essential commodities, food scarcity and growing unemployment before

the fourth General elections in India.

Reason (R) : Failure of monsoons, widespread drought, decline in
agricultural production and serious food shortage caused the problem.

Options :

(A)
(B)
(©

(D)
2259/5/1

Both the Assertion (A) and the Reason (R) are correct and the

Reason (R) 1s the correct explanation of the Assertion (A).

Both the Assertion (A) and the Reason (R) are correct, but the

Reason (R) is not the correct explanation of the Assertion (A).

The Assertion (A) is correct, but the Reason (R) is incorrect.

The Assertion (A) is incorrect, but the Reason (R) is correct.
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7. TAfafea 1 @ &1 @1 faemeeia o SHEe Hi gihg & I Thadras e s

ITAT TEAT <37 2T ?
(A) wRd (B) diferEa™
(C) U= (D) sfictent

8. YT o AISHT TN o TAM T Afel 3T 1 T fopam e amiifeh
(A) & S JUH BT T e |
(B) g Torepta Sl 75 IR ST TTHAT i T STITERTER BT ST T&T T |
(C) ¥8 Il TE ¥ THSEE! Aiget X SMETia o |
(D) S TST IISHT AN 6 G H T8l o |

9. T SEIGL Y 1 G o W16, T G o fo7Q 3ieu et 3R fefaiad @ @ fod
Teh o S et Tfereaen off 2

(A) HRIGH ¢S (B) . S
(C) TE. Fstfero (D) A, fif

10. = feuw e e 3§ Q) T Bl A SRR (A) 9T ST (R) o &9 § 3iferd fopam mn
2 | ST &9 H T ferehed o1 =51 hifvw |

ANRAT (A) : I T AP AT TH BT ST &R |

ST (R) : &l & GHAT HUSA H SIS 16 shl 761 H TR HH 21 & 2 |

Terepea -

(A) IRHAA (A) 3 HR (R) SHT Tl & 3R HROT (R) HAMHUA (A) 1 T ST 2 |

(B) 31U (A) 3R RV (R) HT TE1 8, T R (R) AR (A) i HE A=
TE 2 |

(C) 3ANTH (A) TR 7, THehd HRUT (R) TTeAd 2 |

(D) 3R (A) TeTd &, iR RO (R) T8 & |
2259/5/1 8



10.

Which one of the following developing countries was the first to

successfully control the rate of growth of population ? 1
(A) India (B) Pakistan
(C) Nepal (D) SriLanka

Planning Commission of India was replaced with NITI Aayog because

(A) 1t had become very old.
(B) it was becoming irrelevant to face the new challenges of development.
(C) 1t was totally based on Socialist model.

(D) many states were not in favour of Planning Commaission.

After the death of Lal Bahadur Shastri, there was an intense competition
for the post of Prime Minister between Indira Gandhi and which one of
the following ? 1

(A) Morarji Desai (B) K. Kamraj
(C) S. Nijalingappa (D) V.V. Giri

In the following question, a statement of Assertion (A) is followed by a
statement of Reason (R). Choose the correct option as answer. 1

Assertion (A) : Presently the global atmosphere is warming up.

Reason (R) : A steady decline in the total amount of Ozone in the earth’s
stratosphere.

Options:

(A) Both the Assertion (A) and the Reason (R) are correct, and the
Reason (R) 1is the correct explanation of the Assertion (A).

(B) Both the Assertion (A) and the Reason (R) are correct, but the
Reason (R) is not the correct explanation of the Assertion (A).

(C) The Assertion (A) is correct, but the Reason (R) is incorrect.
(D) The Assertion (A) is incorrect, but the Reason (R) is correct.
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11.

12.

13.

14.

15.

16.

17.

18.

Tor® TreT = Hiferra 99 H |T=IETE o 37 i faf-ad fhaT ? 1
(A) I R Hohe

(B) 8 fova =reen %1 3¢

(C) Giferad T o1 forered

(D) 3T Teerawen § 9fg

39 T 1 1 foaRae frem @ sxfiame 1 amm mm o | 1
(A) ST (B) foer
(C) wRE@vE (D) HeATeH

RCLCEKC) 6x2=12
SO 1992 § fen-gi-safan § s ‘gesft Rrat-wmie’ & fheal Q1 i 6
ST 1T | 2

aferor 3 STehfaeh FETeRT % gee, forva Teifa w1 faeen o s e # 2 fonedf < st
%1 forweryor SHifsm | 2

1992 ¥ TFd Y WEHHT gR1 T e i S U e uieg § weid
fer-gl < TremTaId hl T8 HifvU | 2

YT b TSiITceh 3T AT Sfaam § oy 1967 %l Teh Hgcaqul 4STd WA o g Gl HRUT

Y i | 2

TSiier et 3TN gtee g Simerel g1 1985 T g&dieritd Usie SHeid o fhegl ol Srerem
1 IooTg HITT | 2

TTSE-4 sh! TR o hIE ol ATH TE HIfT | 2
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11.

12.

13.

14.

15.

16.

17.

18.

Which event marked the end of Communism in the Soviet Union ? 1

(A) Cuban Missile Crisis
(B) Rise of New World Order
(C) Disintegration of the Soviet Union

(D) Rise in US economy

Name the state from which Chhattisgarh was carved out. 1
(A) Uttar Pradesh (B) Bihar
(C) Jharkhand (D) Madhya Pradesh

SECTION - B 6x2=12
Explain any two outcomes of the ‘Earth Summit’ held in June 1992 at

Rio-de-Janeiro. 2

Analyse any two reasons as to why issues of environment and natural

resources have become a part of the World Politics. 2

Explain any two complaints related to the U.N. Security Council reflected
in the resolution passed by the U.N. General Assembly in 1992. 2

Explain any two reasons to consider the year 1967 as a landmark year in

India’s political and electoral history. 2

Mention any two provisions of the Punjab Accord signed by Rajiv Gandhi
and Harchand Singh Longowal in 1985. 2

Explain any two advantages of Coalition governments. 2

2259/5/1 11 P.T.O.



Qg -1 5x4=20

19. Sveliohtr o fopegl =R aftomdi bt s=men hifse | 4

20. (a) “YRA J Hifaad 99 o faeed o ¢ gufi 7 T <3N & 1Y 3= G99 §90 W 7
SAfeh T 3R AR o s Tay o1t off geer ik dereqol & |7 foreel a1 eTeton
! GEMAT § $9 YA i FEETd 38Uy | 4
T
(b) fid Ig HTA & TRH, WA FTaE foava & 3= Tl <t qern o 3Afees
ot ot | Tobe oft Tiferra womeft § o Ut foemard off, St 38 3Tt O 31e
Ht & | W fopeel g1 fersryarat =1 gexries Hife | 4

21. (a) UIRAEAM H ThA @Alhad TG i B 3173 fohegl Q Y@ Il hl =&

5|§||\HQ| 4
JAYAT
(b) “@Teh = gferor TRt Swit O sguelia Sl % qienn ¥ wgan el s i eni
T8 hl & |7 S ICTELT Cohl 39 HeF oh] =ATHETd 38U | 4

22. 1974-1975 % CNH HIH THR o fowg g« fotig yeumi & foru Saierh ol =m
gfifefeai st auH it | 4

23. WA h! TSIl o GHY 8 ikt WA H foetd de o e fafens § gfed geamsny =1 9uH
Hife | 4
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19.

20.

21.

22.

23.

2259/5/1

SECTION - C 5x4=20

Explain any four consequences of Globalisation.

()

(b)

()

(b)

“After the disintegration of Soviet Union, India has maintained good
relations with all the new independent countries, but the most cordial
relations are still there between Russia and India.” Justify the

statement with two examples.
OR

During Cold War period the US economy was more developed than
the rest of the world. Still the Soviet system had some special
features which distinguish it from the US. Evaluate any two such

features.

Explain any two main challenges faced by Pakistan in establishing a

successful democracy.
OR

“SAARC has taken a major regional initiative in South Asian States
to evolve co-operation through multilateral means.” Justify the

statement with two examples.

Describe any four circumstances that led to protests against the Congress

Government during 1974-1975.

Describe the events that took place in Sikkim from the time of India’s

independence to its merger with India.

13 P.T.O.



LCRCERR) 3x4=12

24, = feu U sraqwor w1 3rewRE Hifsre 3R feu U wEi o ST i 4x1=4

R & Bie-a¢ faft=1 31epR % 3N 8§ s M <t G9redT o foeg 37afm TR 3
S T IR | GeeTs o YA TE i o 36 Shed o1 foty fopam | gfeem i
ST THAT T fob TETST ol A9 A <1 TRt - <6 Tore B1e T st =nfu | warei
 ITTEhI ! TAH-FHIH § TER U A Ufrgriass yftrent s 3 stfrepdt wamet o6
IR MR T § wfee 2 o fore Tsft e form |

(24.1)

(24.2)

(24.3)

(24.4)

2259/5/1

1947 4 farfew sfvgan & fawrem & v fopm Rrgra w1 wter fopam o 2
(A) IR HEe= 6 g

(B) STt =1 o HgTd

(C) =nfiie sgaEn &1 fagd

(D) EHHAT 1 gl

TEAe TR o JUH IT-TEHT i & 2
(A) ST .3, TEH (B) TER 9
(C) . T (D) @M 3egel TR TH

e & gu oo sfugan o fopaft oot famd off 2

(A) 556 (B) 566
(C) 655 (D) 565
< FmEal & S H 398 b E1 6 o7 g ?

(A) YT TTHR HS 1 ] WA ¢ o o1 IR oft |

(B) SITTE o STTEeh - T WA o T&THT S T el feha T |
(C) <=t famad fafest wredia s & weh faats v 0w of |
D) TS TamEd T8 T T KA T 1 feed s=1 gt off |
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SECTION - D 3x4=12

24. Read the passage given below and answer the questions that follow: 4x1=4

The interim government took a firm stance against the possible

division of India into small principalities of different sizes. The Muslim

League opposed the Indian National Congress and took the view that the

States should be free to adopt any course they liked. Sardar Patel played a

historic role in negotiating with the rulers of princely states firmly but

diplomatically and bringing most of them into the Indian Union.

(24.1)

(24.2)

(24.3)

(24.4)

2259/5/1

Which principle was followed for the division of British India at
the time of partition in 1947 ?

(A) Principle of administrative control

(B) Principle of ethnic composition

(C) Principle of religious majorities

(D) Principle of equality

Who was the first Deputy Prime Minister of free India ?

(A) Dr. B.R. Ambedkar (B) Sardar Patel

(C) V.K. Menon (D) Khan Abdul Gaffar Khan

How many princely states were there in British India at the time
of independence ?

(A) 556 (B) 566

(C) 655 (D) 565

Which of the following statements about the princely states is
NOT correct ?

(A) The Indian government was ready to give autonomy to

some regions.

(B) The ruler of Junagadh had decided to be part of

independent India.

(C) Princely states covered one third of the land area of British

Indian empire.

(D) Some of the princely states clearly wanted to become part

of the Indian Union.

15 P.T.O.



25. feu MU vra & TeHifas @r-aHfes 85, 91 Tsa1 6 (A), (B), (C) 99T (D) g1 e
T g | = € TS SRR o SR W 37 ST ohl TgaM shifTe 37 319+ S-gfedent |
T9oh HE! I8, TN <hl TS THehR] shl 3hH ST 9T A H feu U gefeq 37er =1 feu

T I o HER FAfa

4x1=4

TN bl T8 T bl hH
&

AT 3 Hea 3T&R

qSY bl AH

(1)

(11)

(iii)

(iv)

() 98 TSI & 5. TH.TH. FIELITE g Tgeil TR -hIe TR T T3 fohal =1 o |

(i) YRR S % TEATIh TATHT JETE &Sl & Faferd T |

(iil) =8 U= Foraert ga qd TuEE SaTetere e | o |
(iv) I e Tl TSpAT 37d R § Fafid T |

2259/5/1
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25. In the given Political outline map of India, four states have been marked as
(A), (B), (C) and (D). Identify these states on the basis of the information
given below and write their correct names in your answer book along with
the respective serial numbers of the information used and the concerned
alphabets shown in the map as per the format that follows : 4x1=4
Sr. Number of the Alphabet Name of the
information used concerned State
@
(i1)
(111)
@av)
(1) The state where the first non-Congress government was formed by
E.M.S. Namboodiripad.

(11) The state that belongs to Syama Prasad Mookerjee, founder of
Bharatiya Jana Sangh.

(111) The state to which former Prime Minister Jawaharlal Nehru belonged.
(iv) The state related to former Health Minister Rajkumari Amrit Kaur.

2259/5/1 17 P.T.O.



(25.1)

(25.2)

(25.3)

(25.4)

Frefeafea wem Faa gl wheniiE & foe, w7 @@ 25 &% ¥R«
g1 4x1=4

39 TSY 1 W fARaT & 3.7, Td. FeiuTe gi Ugel! TR-hif TEhR

T3 Tepam T o |

Y o T I FHater sty o1 am forfem |

A qRA o 8 JUH TR T Sal gRT Tied Tsiifdeh gal ol A1
fafay |

WIRA <l 8 T2 Hefl TSGR 37d R § Fafid TS o1 A fafay |

26. T T A ST 2006 H I G T T FehT TTT HATSHAY & T2 & | Thlgd bl
G ST Hich = 4T TT A1 o I T

(a) h1ed H fem@me e AR T’ (Sedieh fagT) % STMUR W HrEied TeA 1 ugeH

3Tkt A Tt | 1
(b) red H e T Sfe S wgEH X 3w M fetfEn | 1
(c) TSI J TS TR IATSHHYT 7 fehay o 7 2

2259/5/1
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Note: The following questions are for the Visually Impaired

Candidates only in lieu of Q. No. 25. 4x1=4

(25.1) Name the state where the first non-Congress government was

formed by E.M.S. Namboodiripad.
(25.2) Who was the first Chief Election Commissioner of India ?

(25.3) Name the political party formed by the former first Indian

Governor General of independent India.

(25.4) Name the state which is related to Rajkumari Amrit Kaur, the

former Health Minister of India.

26. The given cartoon is related to Israel’s attack on Lebanon in June 2006.

Study the cartoon carefully and answer the questions given below :

(a) Identify and name the organisation whose four Logos are shown in

the cartoon. 1
(b) Identify and name the person shown in the cartoon. 1
(¢c) Why did Israel attack Lebanon ? 2

2259/5/1 19 P.T.O.



e : Frefafaa we7 et gfdentaa ahenRi + foe, sov w@ 26 & &M W
g 4x1=4

(26.1)  IE® (UNICEF) =1 forqa &9 faifaw |
(26.2) I HTHIST TN AT I T ITAUTHR] ST ?
(26.3)  TIF TY o AT T Fehe <11 3 gcmer fop & 2
(26.4)  TIF Y I B = TRt qraT] FrEnfht i grar 3 wrifayel 3w @
T g ?
qgig —-¢ 4X6=24

27. (a) WA gRI TR-URATEh GREAT Shi ST TRUNEh GLaTT W 31fereh @ ohid o fobegl ofid

HTOT hl ST HITT | 6
Y4l
(b) FraT % foIQ Wk o fopgll i T3 Bl <ht IgTaeor |fga e hife | 6
28. (a) I AT H AChH YR o AN, = b G A <l 374 IR 1 A9 FAT
T Tt umn 2 his 9 s faifge | 6
YT
(b) I F= &1, Th (Ih TEAN ITel HTEAT F FEeIoht HATURITH T Teh
I3 S <h1 Uk <1 9uiq IS | 6

29. (a) 20% T o 3w e b A WA TsHIfa § afed feregl T Tg@ Ferai =t

g I | 6
COE
(b) 1989 o HTE e Tfcaer 3T hs HENT o s, JTehi gl § IWH 310 TgAfd
forgl o1 Teigati o1 Tom iR | 6

2259/5/1 20



Note: The following questions are for the Visually Impaired
Candidates only in lieu of Q. No. 26. 4x1=4

(26.1) Write full form of UNICEF.
(26.2) Which organisation became the successor of League of Nations ?
(26.3) How many states signed the United Nations Charter ?

(26.4) Which U.N. agency is concerned with the safety and peaceful
use of nuclear technology ?

SECTION - E 4%X6=24

27. (a) Explain any three reasons for spending more on traditional security

than on non-traditional security by India. 6
OR
(b) Explain any three new sources of threat to security with examples.
6
28. (a) While the Chinese economy has improved dramatically, why has
everyone in China not received the benefits of the reforms ? State
any three reasons. 6
OR
(b) Describe the process of evolution of the European Union from an
Economic Union to an increasingly Political one. 6
29. (a) Explain any three major developments which took place in Indian
politics during the last decade of the 20th century. 6
OR
(b) In the midst of severe competition and many conflicts after 1989, a
consensus appeared to have emerged among most parties. Explain
any three points of consensus. 6
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30. (a) “wada WRA 6! foqw HAifa 3 wfaqul fava 6 T 1 ATHR HE &1 =™ Ha g 1
39 YU o U&7 T B3 i IUI b SIIT |

AT

(b) “ara fastufrasieror &1 ufshan &1 T ot Tms IR T Hi Fifd &1 HX
fortieft Te1 % 17 39 %9F o us § IS ofiF IUYH doh oIt |
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30. (a)

(b)

2259/5/1

“The foreign policy of independent India has pursued the dream of a
peaceful world.” Support the statement with any three suitable

arguments.
OR

“India was a staunch supporter of the decolonization process and
firmly opposed racism.” Support the statement with any three

suitable arguments.
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